FAEERT OO THFCHRBR (XN B 0 2 BfERT & A ) £ 9,

RANERA 3 AN3L

I c—&EAX ! !

BRAESE [t 2 4wt
=5X100cmdE
FRT7vET
(BEZA X —TY)
BoLALE R

26,400 (%32
HAMRES b &AL

=R REIREE |
—FE %5 < BRI !

BRAEESE

508U E(DIEFAZED)
Z5X100emkE

i A A A
(BEIEA X —2TY)
B WALER

55,000 %::2)
2T 4 HANRES 3 AIL

Wi 2 =Y A X DHAERT
hovZ2—FICBEITHAY A XTT
= X 60cmiZE

i A A
(BEIZA X —2TY)

B WALER

PRSI 7 hBEE B ENLCT
L

& 13,200 @52




VLI X b0 EXHRITMmB O 2 BFRTE B Y £,

EHOHEEFFaoN
TLYOAVMNEKREE

= Z#970cm - 1@#J60cm
ZEDOREDL LWBIET
R a—LK<ERRLET,
XBEHWALER

XEEH/{ )< _:/\\T\\—a_o
EREM IR LY
Bl Ed

XKHhZ7—NYIT—3>hon
PEHERBEETEENLTZE W

11,000 %2

F—=ILTZLYIAVE
KREZ

= Z#980cm - M@#J40cm
BYETSIZEHLI-KES
XA 7T9 |

X B WFLER

HXEEBE|LM A =TT,
ERTEMIZEFERIC LY
Y Fd
XOhHhT7—NYIT - 30hn
BEFELEZBREULIZI0

11,000 (%32




REER),

TLo

#@EEX

Eﬂﬁﬁiyﬂuu Ho 2 B8Eg &Y £9,
T 1EBAR!

D a—LEa

VOAVINKREE

— 5&£90cm  185I70cm

| BRIECOBITHREETD

S Lo YBIIoY A XTd

b BRLALER

. XBHEEFAX—PTT,
FERTEM ILRFER

B FEd

XHT7—NYI -3 0h5
BEFELHEAEBENRCITIN

16,500 %2

ARZA Y yra
TLoyIOAY MKRE

= Z#9100cm -
M&#760cm

Y BEYTRZAY via
I EIF=7 LA b
B WALER

HXEBE(ZA A -2 T,
ERTEM ILEFER(C

BV ET
XAOAZ7—NNYIT—3>hn
B EHEZEENCTZET N

16,500 %2



VLI X b EXHARITMmB O 2 BFRTE B Y £,

i |

ZILD SR L
RY)a—LDHETT8H
SRTEM TIEB XK
PLYO AV MREE
= S #9100cm -

TE#J80cm

B WALER

XEE‘i’f X_:/\\T\‘—a’—o
FERTEMISERRICK Y
BT

XhZ7—NYIT—3>hn
PEFELBZBRENRCZT W

22,000 (#:52)

AL Yya
REAZANT LAV
KREZ

= X #9110cm - 1E&FI70cm
EYHETLE L= F a7
TLyY - AvT ) TRER
R 2—LHMETT,

B AL R

ERTEH 12 EHE - £ 1
B YET

KAOZ7—NUIT—=2arhn
PIHERBZHEOLLETN

22,000 (#:52)



TLYyI Xy b ENHRISEB O 2:8fF1& ) 9,

- SEARILE - SIRIEHER
G . Fva-i-mokuEAR
9 REEX47

—kR. B#Znsl<

W/ 7 PR & BREEAE PO LI-EEk T L v
e X b

& = X¥9100c m - 1EXI100cm

B WALER

W XEEEA X—P T,
W (ERTEEEVEREPIC LY
o EnYET

Xho7—NNYT—30h5
B DI E ez BEPLTIEN

33,000 (#:52)

MEmICOWTHEHEEE - TEEEZEZIWVWFE LS
X —JU info@shinsenhanaya.com [Z Tzl £ 9,



mailto:info@shinsenhanaya.com

BODODAT—NYIT—30h 6
BIEBEAVESRUET ST

ﬁﬁ;?\\ t/7¥¢ 7?1///% 5 KX =

g — %

Ty A - HBEREOE I
BE30cm: -#t13cmDiLTHA
mRITCOEFET,

A A=

B

00 #

Bstat 00
fEIUER 0000 & Y




